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1 1 . |
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sh(xxy)=shxchyzxchxshy;
ch(xxy)=chxchyxshxshy;

ch®x—sh®*x=1:

sh2x =2sh xch x:

ch 2x = ch?® X +sh?® x.
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(2) R XX i BB 2

FOWHE IESZ y = arsh x;

y = arshx ., y=arshx
—In(x+ /X% +1). j
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e*=y+.y +1 (&3 “-)

X=In(y+.y>+1)
VB x5 yE#H, B y=In(X+Xx*>+1)
B f(x)=In(x+~/x2+1)
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R 45% Yy =archx

y = archx

= In(x+/x* -1).
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_ 1 2
(1) f (x) = - X)+J49 X
(2)#0 < u < 1B BFEAF (u)FA 5B X, 3R (sin 2 )H) 8 Sk
1 : X<0
X+1
(3) T (x) =1 X, O<x<l1
2, 1< x<£2

151 2. Bef (X° + 15= x* +5x° +3,3Rf (x* = 1).

#3. B f (sin§)=1+ cos X, 3K f (cosg).
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@;M. wraf (x)+ bf ()1()=f(,,=;ma,b,c?'sl'.’%"§f(,ﬂa¢b,
RIE: f(x)=—f(=x).

$5. B (X), 0(X) B w(X) N (—o00,+00)_ Fy EEL 1 PRI %Y,

Ho(x) < f(x)<w(x),KiE: olp(X)]< fIf)]<ylw(X)].

(x2, —1<x<0

Fl6.EHly=<Inx, 0<x<1 ,RKEE.

2%, 1<x<2

1, Ix<1
BI7. 8f (x) =40, x=1, g(x)=e", RF[g(x)] o[ f (x)].
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49— x2>0 —T7<X<T
fi#. HI3—-x>0 54 x<3
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WUTSR & BN [-7,2) U (2,3)
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, X<0
X+1
(3) f(x) =1 X, O<x<1
2, 1<x<?2

fi#: SR B 5E SIRA: (~0.~1)U(-10)U(0.2]
2. ¥f (x° +1) = x* +5x% + 3,3Kf (x* =1).
e o (X2 +1)=x*+2x° +1+3x%+3-1
=(x*+1)° +3(x*+1)-1
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2 2 1\2 2 4,2
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A EHAN
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